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To elicit risk preferences, respondents are asked to make 27 decisions between two choices, Jar A and Jar B. Each jar has two balls with a 50% probability of being chosen at random. Series 1 elicits choices over gains; Series 2 elicits choices over losses; and Series 3 elicits choices over mixed lotteries. 

Series:
· In Series 1 (10 decisions), Jar A always contains a blue ball worth 400 KSH and a red ball worth 300 KSH; Jar B contains an orange ball that is always worth 50 KSH while the green ball contains some value X that varies from 620 KSH to 1300 KSH. 
· In Series 2 (10 decisions), Jar A always contains a blue ball representing a loss of 400 KSH and a red ball representing a loss of 300 KSH; Jar B contains an orange ball that always represents a loss of 950 KSH while the green ball contains some value X that varies from losing 170 KSH to losing 460 KSH.
· In Series 3 (7 decisions), Jar A contains a red ball with a gain of either 10 KSH, 40 KSH, or 250 KSH and a blue ball with a loss of either 40 KSH or 80 KSH; Jar B contains a green ball with a gain of 300 KSH and an orange ball with a loss of either 110 KSH, 140 KSH, 160 KSH, or 210 KSH.

The options within each Series are depicted below:
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Example Instructions screen:
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Example decisions:

Series 1 Example
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Series 2 Example
[image: Macintosh HD:Users:kesopo:Box Sync:_Busara Lab:4_Lab Project Folders:Lab Project Folder_2016:SOBC 1B:Ztree:20161107:Jars:decision2.1.jpg]

Series 3 Example
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JAR A: JAR B:
Lose 300 KSH Lose 460 KSH
Lose 400 KSH Lose 950 KSH
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JAR A: JAR B:
Gain 250 KSH Gain 300 KSH
Lose 40 KSH Lose 210 KSH
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Option A Option 8.
(@)L Redbal buedall GreenBall_Orange ool
#lion1 30 0 620 50
Decision2 30 0 650 50
Decision 3 30 0 680 50
Decision 4 30 0 720 50
Decisions 30 0 760 50
Decision & 30 0 830 50
Decision7 30 0 500 50
Decision & 30 0 1000 50
Decision9 30 0 1100 50
Decision 10 300 0 1300 50

Series 2: LOSSES, 1000 KSH endowment

Option A Option 8.
Round2  RedBall BlueBall  Green Ball |Orange ball
Decision 1 300 400 540 50
Decision2 300 400 560 EY
Decision 3 300 400 580 EY
Decision 4 300 400 600 EY
Decisions 300 400 620 EY
Decision & 300 400 650 EY
Decision7 300 400 680 EY
Decision & 300 400 720 EY
Decision9 300 400 760 EY
Decision 10 300 400 830 50

Series 3: GAINS AND LOSSES (to estimate loss parameter), 350 KSH endowment

Option A Option 8.
Round3  RedBal BlueBall  Green Ball |Orange ball
Decision 1 0 %0 30 210
Decision2 0 40 30 210
Decision 3 10 40 30 210
Decision 4 10 40 30 160
Decisions 10 £ 30 160
Decision & 10 Y 30 140
Decision 7 10 80, 300 110




image2.png
n this task you will make 27 d

ecisions between two choices. If this task is chosen for payment, the computer will
randomly choose one of your

decisions, so you should choose as if each decision determined your payment.

magine that somebody is going to pick a ball from one of two jars, Jar A or Jar B, without looking. Each jar has two
balls. In Jar A there is one blue ball and one red ball . If the blue ball is chosen, you will be paid 400 KSH, while if the
red ball is chosen you will be paid 300 KSH. In Jar B there is one green ball and one orange ball. If the orange ball is
chosen, you will be paid 50 KSH. If the green ball is chosen you will be paid different amounts in each decision.

The size of the balls or their p|

acement in the jar does not matter. Each ball is equally likely to be picked by
somebody who is not looking.

You have 200 KSH to start with in the first section of this task.

The next decision is a PRACTICE round that is NOT PAID.Press the Continue button to begin the practice round.
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JAR A: JAR B:
300 KSH 650 KSH
400 KSH 50 KSH
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